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LUTFTEE A|LBWUFEEE B|] C=A—B C.”B*100
— & =t 60, 267, 000 53,081, 000 7,186, 000 13.5
EREEREREN =G 9,902, 896 9, 463, 031 439, 865 4.6
BHESHEERENSE 1,999, 623 1,896, 922 102, 701 5.4
NERERRKE N LG 9,970, 626 10, 127, 597 A 156 971 A 15
B o N 38 R & 5t 21,993 23,077 A 1084 A 47
B R EEXEHEN £ G 10, 069 10, 274 A 205 A 20
TEMMEREEERSET 1,252, 505 458. 800 793, 705 173.0
EBHERE N £ G 23,663 23,785 A 122 A 0.5
K B FT ¥ £ & 3, 334, 049 3, 402, 065 A 68,016 A 20
T ¥ AKESE%2£5t 248 010 247 112 898 0.4
T oK x ¥ £ & 9, 626, 528 8,923, 705 702, 823 7.9
£t 96, 656, 962 87,657, 368 8,999 594 10. 3
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— &2 £ EH a 60, 267, 000 53, 081, 000 7,186, 000 13.5
HIEEM L DBBBELED 4,120, 210 4, 754, 581 A 634 371 A 13.3
EE Lt FTE(a+b) 64,387, 210 57, 835, 581 6,551, 629 11.3




